Question Paper Name:
Subject Name:

Display Number Panel:
Group All Questions:

Question Paper Preview

AGRICULTURE AND MEDICINE 28th April 2017 Shift2
AGRICULTURE AND MEDICINE

Question Number : 1 Question Id : 1017174961 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Match the following.
List-I
A)  Gaspard Bauhin
B) Robert Hooke

C) Anton Van Leeuwenhoek

D) Camerarius
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Bacterial cell

Bionomial nomenclature
Sexual reproduction in plants
Micrographia
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Question Number : 2 Question Id : 1017174962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In plant *A’, sporophyte is not free living. ‘B’ zygote represents short lived sporophyte. “‘C’
independent gametophyte and sporophytic generations. The organisms A, B and C are
respectively
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Volvox, Lycopodium, Marchantia
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Question Number : 3 Question Id : 1017174963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Choose the correct statement from the following.

A) Inpheophyceae members the cell wall is covered by gelatinous coating called algin.
B) Mosses. along with lichens are the first organisms in the Xerarch succession.
C) All bryvophytes are not homosporous but show heteromorphic alternation of
generafions.
D) Some chlorophyll bearing thalloid organisms grow in association with sloth bear.
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Question Number : 4 Question Id : 1017174964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Choose the wrong statements from the following.
A) Mannitol 1s present in Gracillaria.

B) Gelidium stores floridean starch.

C) Tolvox stores starch in pyrenoid.

D) Laminarin is present in Ulothrix,
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Question Number : 5 Question Id : 1017174965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the wrong statement from the following,
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Options:
In cyathium stamens are arranged in polychasial cyme pattern around a single female
flower.
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In Australian Acacia. leaf 1s pinnately compound and petiole 1s phyllode.
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Tubular corolla 1s present in disc florets of Asteraceae members.
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In Salvia and Brassica show variation in lengths of filaments in a flower.
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Question Number : 6 Question Id : 1017174966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following.

List-I List-II List-ITT
A) Thom I) Umbel 1)  Bougainvillea
B) Unisexual flower I) Polychasial cyme 11)  Cocos nucifera
C) Stolons Il) Spadix 1)  Nerium
D) Storage root IV) Cymule ) Carrot
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Question Number : 7 Question Id : 1017174967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify A, B. C. D in the given diagram of Monocot seed
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Options:
Pericarp. Cotyledon. Perisperm. Plumule
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SoreroBud Sodbso, wodduydo, Fﬂ?}ﬁgﬁh (Erodud80nE0
Radicle, Cotyledon. Endosperm. Coleorhiza
) @& Sreo, Haddo, wodwko, Srerosid oo

Question Number : 8 Question Id : 1017174968 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following

List-1 List-1I
A) External fertilisation 1) Viola
B) Autogamy 11) Marchantia
C) Hypohydrophily 1i1) Cladophora
D) Dioecious condition V) Zostera
V) Vanda
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Question Number : 9 Question Id : 1017174969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Find the correct statements among the following
A)  Sporopollenin can be degraded by some enzymes

B) By maturation and hydration of anthers microspores dissociate and develop as
pollengrains

C) Gamopetalous plant ovules have single integument

D) Stigma is thin and smooth in anemophilous plants
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Question Number : 10 Question Id : 1017174970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Genetic mechanism of inlibiting its own pollen germination: Persistent nucellus in seed:
nucellus gives rise embryos are showing in these plants respectively
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Solanum, Coconut, Grape
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Hibiscus. Black pepper. Apple
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Question Number : 11 Question Id : 1017174971 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Assertion (A) :

Reason (R) :

D350 (A)

s*gadn (R)

Options:

In Angiospermic phvlogenitic group systenw. the arrangement of plants
show progressive or retrogressive characters.
Evolutionary trends are the basis for phylogenitic system of classification.
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(A) is ttue. (R) 1s true and (R) is correct explanation of (A).
(A) 508050 (R) @0 906080 58050 (R) @i (A) 0 388 J5d0
1.

(A) and (R) are true but (R) 1s not the correct explanation of (A).

L-2

(A) 508050 (R) en 306088 500 (R) oodd (A) & 08 DH6ed 575

(A)1s true. (R) 1s false.
3 (A) 5003058, (R) 505058 5760

(A) 1s false. (R) 1s true.
\ (A) 05056 5%, (R) B0g058

Question Number : 12 Question Id : 1017174972 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical



Assertion (A) :

Reason (R) :

3o (A)

s*deadn (R) :

Options:

Living organisms work continuously because of non-equilibrium steady
state.

Metabolism of living organisms is continuous energy production
mechanism to attain living state.
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(A)1s true. (R) 1s true and (R) 1s correct explanation of (A).
(A) 508050 (R) &0 98G5 50050 (R) @b (A) 5 8388 D50
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(A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 508050 (R) o0 3863088 570 (R) 05088 (A) £ 8388 560 520

(A)1s true, (R) 1s false.
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Question Number : 13 Question Id : 1017174973 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical



Study the following statements.
a)  Ribosomes and Nucleolus are not membrane bound structures.
b)  Tonoplast facilitates transport of 10ns against concentration gradient mto the vacuole.

c) Peroxysomes are membrane bound structures and play role in the synthesis of
phospholipids.

d)  Lipids are converted mto carbohydrates by Glyoxysomes.
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Question Number : 14 Question Id : 1017174974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the biomolecule which 1s a polymer of fructose: Abundant protein in plants: straight
chain polymer made of glucose units and store house of energy in plant tissues respectively.
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Inulin. Collagen. Cellulose. Mitochondria
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Cellulose. Rubisco. Inulin. Starch
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Question Number : 15 Question Id : 1017174975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements and find correct answer,

A) In centriole the peripheral fibril 1s a triplet and are connected with central part by
protein materials.
B) Large and more numerous nucleoli are present in the cells of active protein
synthesising cells as they are membrane bound structures.
C) The density and size of ribosomes are represented by their Svedberg units which
indicate their sedimentation coefficients.
D) The carotenoid pigments are yellow or orange and not soluble in water.
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Question Number : 16 Question Id : 1017174976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A molecule of ds DNA is 272 A® long. It has 20% Thynune. The ratio between the total
turns and no. of H, bonds present in a molecule 1s
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Question Number : 17 Question Id : 1017174977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Under an electron microscope 146H, histone molecules were observedin a ds DNA. Find
number of nucleosomes. number of nucleotide pairs associated with one histone octomer
of nucleosomes and number of nucleotide pairs associated with total number of
nucleosomes
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Question Number : 18 Question Id : 1017174978 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following.

List-1
A) Epidermal hairs of
shoot system
B) Phloem parenchyma
C) Phloem sclerenchyma
D) Tealeaves
1808 arEiQ 24NN
el
A) F0odIgSI[S D
G
ey sd gs“ 00
B) a8 SoySoseoereo
C) &BE Syf Severodn
D) Z2oirs SHeew

The correct answer 1s

HOGHH BIPTHE0

Options:
A B C
1 wlI uIl LIV
A B C
oLl HIT LIV
A B C
. m. IvV. 1.1 1. I
A B &
wIl 1.1 i IV

1)
1i1)

D
. I
D
. II
D
v, T

D
i, I1

List-IT

Present in secondary
phloem

Stores latex
Presence of sclereids

Soft and stiff
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With narrow cavities

Secretion

Absent in
Monocotyledon
Absent in primary
structure
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Question Number : 19 Question Id : 1017174979 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the incorrect statement

I)  Pericycle i1s Sclerenchymatous in Dicot stem.

II) Bundle sheath is Sclerenchymatous i monocot leaf.
) Dendrochronology related to the study of annual rings.
IV) Old stems. store tamns and resins in heart wood.
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Question Number : 20 Question Id : 1017174980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A):  The climax conmmunity remains stable as long as environment unchanged

Reason (R):  Succession succeeds from small plants to bigger plants with several
intermittent plants
AFo (A) | Trerdde D0HMen Srddod S8 IEHET Yoo Hodnod
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(A)1s true. (R) 1s true and (R) 1s correct explanation of A
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(A) and (R) are true but (R) 1s not the correct explanation of A
(A) 300030 (R) o0 38d0&0 570 (R) @ids (A) 8 30008 9562 5265
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(A)1s true. (R) 1s false
3 (A) 9603088, (R) 28530858 520

(A) 1s false. (R) 1s true
) (A) 505056 52, (R) H030856

Question Number : 21 Question Id : 1017174981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct statements

I) Accumulation of K* ions in the guard cells is associated with passive influx of

CI~ 1ons
II) Sugars move from companion cells to seive tubes through passive transport
r) Water from xylem moves to phloem by Osmosis
IV) Unidirectional flow of water in root is regulated by endodermis
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Question Number : 22 Question Id : 1017174982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identify incorrect statement

506570 modoiy MBodisy

Options:
Free living Rhizobia are aerobes and have Nitrogenase in inactive state
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Nodules have direct vascular connection with the host and possess enzyme Nitrogenase
and Leghaemoglobin
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Nitrogenase reduces N, to Ammonia under aerobic conditions
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Soyabean export the fixed nitrogen as ureides. which have high nitrogen to carbonratio
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Question Number : 23 Question Id : 1017174983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



In three different enzyme reactions. interferance of three factors A. B. C leads to the
following changes

I)  Structure of the enzyme is changed

II) Inhibition of first reaction in enzyme reaction mechanism

) Competes for binding site on enzyme
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Identify A. B and C respectively
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Question Number : 24 Question Id : 1017174984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Assertion (A) : Both ATP and NADPH+H" are synthesized during the cyclic flow of
electrons

Reason(R):  Cyclic flow of electrons occur when only PSI 1s functional and wavelength
of light 1s beyond 680nm available for excitation
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Both (A) and (R) are true but (R) is not the correct explanation of (A)
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(A)1s true. (R) 1s false
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Question Number : 25 Question Id : 1017174985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose correct sequence of reactions in Hatch-Slack pathway

55 8 Do SPge (ESoSw
Options:
CO5 — Carboxylation — Reduction — Regeneration

CO, — 5o §)BAS —> §oDEGe — HSB)o7Easin
1

CO,; — Carbon fixation — C; acid transport — Decarboxylation — RUBP regeneration
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CO; — Carbon fixation — C5 sugar transport — Decarboxylation — PEP regeneration

CO, = 868 T8 — C5 I8, 0 Sarese — Ao §BAT — PEP H&0)07205%

CO; — Carbon fixation — C, acid transport — Decarboxvlation — C; Acid transport
— (3 Acidregeneration
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Question Number : 26 Question Id : 1017174986 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following with suitable enzyme reactions

List-1 List-1I List-1III

(Type of reaction) (Substrate) (Product)
A) Cleavage I) Citric acid 1) 2PGA
B) Mutase M) Glucose 11)  Succinic acid
C) Hexokinase IM) Succinyl CoA i11) Cis-aconitic acid
D) Dehydration IV) 3PGA v) Glucose 6 Phosphate
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Question Number : 27 Question Id : 1017174987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements

A) Relative durations of light and dark do not effect flowering

B) Flowering in plants depends on exposure to low temperatures

C) Cold treatments stimulate a photoperiodic response in subsequent season
D) ABA helps m promoting flowering
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Question Number : 28 Question Id : 1017174988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Choose the correct statements in the following

A)

B)
C)
D)

Measurement and comparison of the total growth per unit time is absolute growth
rate

Growth per unit time as percent of average size 1s relative growth rate

Cotton shows plasticity by heterophylly

Inhibition of apical bud by lateral bud is apical dominance
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Choose correct statements from the following

D
1)
1)
V)
8od
1y

iy

1)
V)

Microbes used m extracting valuable metals are Biosensors
Salmonella uptake naked DNA from surrounding environment
Conjugation of Bacteria is a conservative process
Rhodopseudomonas 1s photo heterotroph

Te3e5° DOghE argmgoido Hfowdhdn

Dendd ShTFed 308 SoHE 8 o8 r5EIod TRl wotrd

o

HBdore Sood ) DNA & §%00% F0ggo remTer §OA 0tn0d

er80oires® HodgE Eﬁgi‘e@i Doosnifjo 26hiHh%0b

)
4]

O R Ar T wHSNh 5708 AdFndSn

The correct answer is

BOFH DSPTEB»

Options:

1

ILIV

, LI
LIV

4

Question Number : 30 Question Id : 1017174990 Display Question Number : Yes Single Line Question Option : No Option

LIV

Orientation : Vertical

Assertion (A) : Phage particle function like hypodermal syringe to inject DNA mto the

host.

Reason(R):  Tail fibres of Phage particles contracts at the complementary receptor
site of Bacterial cell wall.

Ao (A) | FE V0D GrHerdrgit) DEoE 58 & JdgrHn DNA & w8gon $00e 8

)08,

s?@sn (R) | & &8 & Hodyrss ﬁﬁf}:ﬂé@;m@ 3¢ HoFSS0 Doheod.

Options:



(A) 1s true. (R) 1s true and but (R) 1s the correct explanation of (A)
(A) 508050 (R) @0 580082 500050 (R) 20088 (A) $ 30608 D56

(A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 508050 (R) e 30630082 570 (R) 5086 (A) §5 H050d D30 s°¢h

(A)1s true. (R) 1s false

| (A)sog@ise, (R) Somi6 576

(A)1s false. (R) 1s true
(A) 385356 5265, (R) 866088

Question Number : 31 Question Id : 1017174991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Heterozygous pea plant with round yellow seed are selfed and a total of 1600 seeds are
collected. Find the number of plants having heterozygous condition for both traits

DOEE BHDGE DETO0 SO D030 2 Qo7 30 S BT DoY) o WO,
1600 Do 8000 20A08. DS Bok ©Fr0H Ho0HOND DADOTN S

) QST Doy

Options:

200

1.

4.

800

300

400

Question Number : 32 Question Id : 1017174992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following statements
A) By X-ray diffraction. Watson and Crick proposed the double helix of DNA structure

B) The plane of one base pair stacks over the other in a double helix which confers
stability of helixal structure of DNA molecule

C) DNA of E.coli. being a positively charged molecule and hence held in the region
called nucleoid
D) Transforming principle is the clear evidence that genetic material is stable.

Bob mozod H0AdoWBD
A) &y, 188 X 80 I5GH dSrwrdo 5700 DNA eeo0figddye @ QUeerd)
Esichialetnadel
B) 853000850 B850 88, T°0 P d0E00d° HF) 88 576 a8 20HET ok
S0 DNA TrO86 0070208 9GR8 20850 J6ydehod
Gy B e — s od
C) E.coli. DNA 68 =345 $§0A Srg8oirond ol @rodos® Holood

D) adghardan REe) H05ES dr@sn oo JobowSEn
G @ o = o

Find the incorrect answers
2050 2arrnen MHiothdw
Options:
; AB
c.1D
AC
B.D

Question Number : 33 Question Id : 1017174993 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following and identify correct statements:

A)  The genophore m prokaryote has almost circular DNA and show chromatin organization
B) Histones are positively charged basic proteins rich in lysine and arginine amino acids
C) DNA is negatively charged and wrapped around hisone octamer

D) Euchromatin is transcriptionally active chromatin

$08 PadTen wigoHhdo Th B HOGDS T30 HoWod

A) BoSs Groy 3ot P06 o) Secsirstd DNA Hbodn BSrdd Q00
SO wotnod

B) rgoen Bha S0d05n eI ePpTudred whfor 88 Sord)s eiTd) W
R RN

C) DNA axpegee) 8 wido §Oa S w5506 P SENBD Godnod

D) ochrEsrds «Hdpsd Hdom §oirie BSrEs

Options:

AB.C

B.C.D

L2

ACD

AB.D
4

Question Number : 34 Question Id : 1017174994 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the following organisms in ascending order based on the length of DNA
DNA 26 sordonr & §ob #3od 9f0es (§00e5° @506050

I) Ecoli I ¢X174 Ty Human IV) Tphage
Options:

1 ILIV.ILI
LIIT IV

ILLIL IV



; I0IV.L I

Question Number : 35 Question Id : 1017174995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Enzymes used for isolation of DNA from Bacterial cell
I) Lysozyme

II) Cellulose

) Chitinase

IV) Protease

V) Ribonuclease

VI) Endonuclease

28005 $asn HH06 DNA & 30§ Sainbsh &H@rHE JoZsnen
D E a0

) Seoges'sd

) 3538

IV) @&ané

V) pesregais
VD Qo&SrsadhE

PR

F ol

Options:

LIV,V
ILV.VI

L2

LILIV. VI

) LIOLIV.V

Question Number : 36 Question Id : 1017174996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Find the correct statement.

A) In the name of restriction enzyme 1 letter represents genus. 2°9 letter species.

3™ Jetter is name of the strain and the last letter is order in which enzyme is isolated.

B) DNA fragments can be detected by ethidium bromide staming followed by UV trans
illumination.

C) Chimeric DNA can be developed by separating various fragments of DNA and Union
of desired DNA fragments by endonuclease.

D) Alien DNA can be introduced to host cells by method called Gene-gun method

BO0S arsrgdy Mhgothadn

A) DRES 0B T0EGES” Foocitd 0650 2 £ $H00 IHTAERT T (Herd
Jrad 28 wE0H0 8o 380 wE0Hn Bd §8H Trddn Hdodn D50 dowyg
QOBIVY HEODBEHr) V0302308

B) DNA podeods 26@000 '8 @idoeddn ogor Sdasn UV D860 oo
K080 SENS.

C) F6o0d DNApodeed 36 T35 sroguai DNApoda e ao@‘scﬁ:ﬂggo‘ﬁaﬁ nlNex
§e0rd DESg DNA Q6yk&ob

D) #3-63 g8 oo 70005 DNA & 28700 800’8 S"H)0SS55)5

Options:

A.B.D
BC.D
A C. D

AB.D
4

Question Number : 37 Question Id : 1017174997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study following table

A) RNAinterference  Prokaryotes Cellular defence

B) Genes Crvl Ab Controls corn borer

C) Insect Bt toxm Active form

D) Superweeds Gene pollution Resistance to weedicides

& Bod rded wigohdo DosnSw

A) RNA $g&88e0 So58 HrdgEaen o O8e0 DHES

B) adogden CrylAb 5°0) #°68 Dofoes
C) se&so Bt ¢85 §o5r3e Srdo

D) $3r5626 2808 5TenAgo ey TiTe B PSS

The cormrect combination are
a’}gr‘é 23dden)

Options:

ACD

B.C.D

"

. AB.D
A.B.C
4

Question Number : 38 Question Id : 1017174998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Identify the correct statements

A) Plant breeding improves mineral nutrient content and quality

B) Atlas 66 is a hybrid variety rice developed by IARI

C) Mung bean with yellow mosaic virus resistance was developed by mutation
D) Agricultural productivity 1s nearly 33 percentage of the GDP of the country

D000 woFwd Miodod

A) pIn Soroste @WoFrR) Jragddd WHSDICSETVE 58 280 wS880
B) »ird 66 wi 50 H086 657Q) (IARI) artd Do@rofowrdd

C)
D)

o, .,

5029 Dy Boeron§ Brhen 3¢ IEEEESETD DHew B3G50 o brﬁb}&,o{:‘;

2

ok

{ dro #eoh &EBS° SgSTroh Howod &H\8 33 FEo 6% wotnod

Options:

A.B.D
ACD

1

A B.C
3

B.C.D
4

Question Number : 39 Question Id : 1017174999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Somatic hybrids contain

7805 Hoforen EOA Sodhds

Options:
Cytoplasm and nucleus of a single parent plant

8 Sy T0E), D0, S0 |GHgH0 00N SoEishn

Cytoplasm of one parent, Nucleus of another parent
28 2980 S0 (BSgSn HBoTH R0EE 255D BodESn

L2

Cytoplasm and nuclei of two parents plants

00k Sy INF e e B5gH0 DA BoEs e



Only cytoplasm of both parents

Do adiie S (B$5g50 SrED
4

Question Number : 40 Question Id : 1017175000 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Cotton 1s a Jassid resistant plant
Reason(R):  Hairs of the leaves have the property of resistance

g0 (A) 1 D8 anhodH D8FEES oD
sdsn (R) @ §8) 38 o Higre 2 «od STen S8 Hded I EES5 Soorfdaron

Options:
(A) and (R) are true and (R) 1s the correct explanation of (A)

(A) 58050 (R) @0 5003050 500050 (R) 90858 (A) 80 30608 D56
(A) and (R) are true but (R) 1s not correct explanation (A)

(A) 300051 (R) @0 #0680 570 (R) @0d8 (A) 8 D80G H56=0 576
(A) is true. (R) 1s false

(A) 903058, (R) 806056 5765

(A) 1s false. (R) 1s true
(A) 30g0d6 s, (R) 2036

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1017175001 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Assertion (A) : Steller's sea cow has become extinct due to over exploitation by humans.

Reason(R):  Alien species turn invasive and establish themselves at the cost of
indigenous species.

DES0 (A) 1 ‘Tob H30E 8 Sr$HID S50 @8IAGTH0 S8 JenhBrongod.
s?Godn (R): B%erden TE2@8Im 50, LA B E bl »oow FHod, 500320

Eéé}g% R2aTETReNT gd;‘;ﬁé@“m&.

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation to (A)

(A) 55805 (R) Bodr 3353 50005 (R). (A) § 8598 2568

Both (A) and (R) are correct but (R) is not correct explanation to (A)
(A) S080dn (R)Bodr 5883 570 (R). (A) 8 508 D502 s=eh

12

(A) 1s correct but (R) 1s not correct
(A) 8056 50 (R) 5058 575

(A) 1s not correct but (R) 1s correct

(A) 5956 526 5°0 (R) 5956

Question Number : 42 Question Id : 1017175002 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Rivet popper hypothesis of Paul Ehrlich explains

TS JOF PSTB0NS 3T FHE GyighoHo HAD ISBB0E.

—i

Options:
Importance of each species in the overall functioning of an ecosystem

.8 w50 HgIY IVSOS® HS 8 DnE), @Hopgs
3

Role of latitudinal gradient in biodiversity distribution

B 3Gy argaey” wgrod Hded g

5



The relation between diversity and productivity

y 2 3AFgs, G ESES5 Hodg He Howogo

The relation between area and species richness

2Ho DQISL, s HINGSL Hg Ko HowoEdHm
4

Question Number : 43 Question Id : 1017175003 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Neurons with soma in the dorsal root ganglion of spinal nerves are said to
be pseudounipolar.

Reason(R):  They are sensory neurons having a single process divided mto two branches.

DSBS (A): SIhTde Hasre THHoHOS® ity o Tiarod DEry
IS ariseren wd) SrE wotrd.
5?0 (R): Qd Do Tpeom DO 2.8 8080 S o T B 8earen

Options:
Both (A) and (R) are true and (R) 1s the correct explanation to (A)

(A) 50050 (R)Bodkr $6¢H33 605 (R). (A) § £05 D568

Both (A) and (R) are true but (R) 1s not correct explanation to (A)
(A) H0805n (R)Bodr $883 520 (R). (A) § 8BS D58 s

L2

(A) 1s correct but (R) 1s not correct
(A) 5856 570 (R) 9058 s°cdo

(A) 1s not correct but (R) 1s correct

(A) 5056 576 520 (R) 5058

Question Number : 44 Question Id : 1017175004 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement

& 1§08 O et 8BS gy Hgowod.

Options:



Microglial cells are mesodermal in origin

DENHODHS Segren EFES0 0k trth)T0m.

Simple cuboidal epithelium 1s called pavement epithelium

BETTE 0 GHEED D0 SHEY Lo,

Haversian canal 1s found in gristle

THOOND Howg Soyieryes” EINH08.

Abnormal rise in WBC count 1s called polycythemia

80 §58eore Hopy WTPCon DEAREI) FODEDIST wotrd.
, °

Question Number : 45 Question Id : 1017175005 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following
List=1 List-11
(A) Enterocoelom (I) Cnidana
(B) Coelenteron (Il) Echinodermata
(C) Haemocoelom (IIT) Nematoda
(D) Pseudocoelom (IV) Arthropoda
(V) Annelida
8o& o783 eEH0Eok.
5838 - 1 538 - 11
(A) =soig 460 Sordo (D) &@édosr
(B) 288Hdd Soirdo (IT) '&@Ecﬁé&m
(C) &8 soirdo (D) IJHoesta
(D) gy 406 Soirdo (Iv) Slogley
(V) =38

The correct answer 1s

28 HOGNS Hdrerdo



Options:

A @B © O
I I\Y m V

@ @ © O
I I Y il

A B © @O
I i V v
A @\ © @O
1T I i v

Question Number : 46 Question Id : 1017175006 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Note the correct statement from the following about the organisation of Echinoderms

QWS B0 P 2P0 Howosold Bod Tgpgees’ Howd TAD Hfodod.
o 2 i o

Options:
Animals with spiny skin. water vascular system and without a distinct heart.

Sngd EOAS S6)0, BeEHH0R S50 OO Hod B BHen
TR ) -

Animals with soft body. pentaradial symmetry and without heart.

BoyoFS Biro, Howsde argard FRN0 DA, Hod B wodHPen

Animals with spiny skin. schizocoelom and without heart.

S0¢) 8OAS B60, Jef 968 Koirdo 80N oG BA BJen

Animals with spiny skin. dermal ossicles and canal system.
S0 §O/S $6)0, $OOH VY POF, Soeryg X)Fg.:’:;g §OAD s0shen

4.

Question Number : 47 Question Id : 1017175007 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following
List-1

(A) Gnathochilarium

(B) Spmnerets

(C) Poison claws

(D) Viviparous

8o o) esHhdaddhsmn.

e -1
(A) 38580050
(B} = e
(C) DHDH Seoeen

(D) 3Premyiseen

The correct answer 1s
D& HBGH SIrprHo
Options:

A @ (©
I v I

A @ (©

I N I

A @ (©

I\ m I
3

Aa @ (©
) I Y I

Question Number : 48 Question Id : 1017175008 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

(D)
v

(D)

(D)
V

(D)
v

@D
(D)
()
(IV)
V)

@

(1D
(II)
IV
V)

List-11
Scolopendra
Palaemon
Spirostreptus
Aranea

Palamnaeus

erdla - 11

9 &7 DoT

2 E,T"ni]g{ o



Study the following structures

(A) Sternum (B) Tympamun
(C) Cleidoic egg (D) Three semicircular canals
(E) Hardarian glands (F) Amnion

(G) Columella auris

Bod oo wigohso Bohod.

(A) &6 (B) sg@d
(C) 8mons M) (D) S wiSors 8 oged
(E) :fgﬁomﬁ oen (F) &eono

(G) $8508%8

Which of the above appeared for the first time in successful land vertebrates.

P 88" JucHIodsDnS K5I’ JEBTOT IGES Joyeren KHgouos.

Options:

; B-C-E
C-F
C-G

D-F-G
4

Question Number : 49 Question Id : 1017175009 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following combinations regarding the origin and ancestry of different
vertebrate groups.

Group Ancestor Origin period
I Aves Theropod dinosaurs Cretaceous
I  Mammalia Theropsid reptiles Triassic
I Pisces Placoderms Silurian
IV Amphibia Osteolepids Devonian

DG HEIdse BITNS FTOB0 ¢ rigsoe DS e Howodod §ob BENoHoi
wgofbo Bood.

HdnzroPo SrBesoen BITNS 500
I  H%ew GFPE BTG §¢5500580
oI §soren goind BbyPren eabtaly
M JIHew T8 6 o0 Falahilelonsts)
IV  &egfohdoen BHSBrSHEe ISR Aovhls]

Identify the incorrect combinations of the above
D TBS® SS9 adtwad S3FTros HiotHiw.

Options:

LI

LIV

L2

L. IV
LIV

Question Number : 50 Question Id : 1017175010 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Cleavage 1s meroblastic i reptiles and birds
Reason(R):  The eggs in reptiles and birds are megalecithal

AHSBSw (A):  BoHaren, HHhod? ©oSE08S JBFHI0 BHHBOE.
sd0 (R): OB ren, HFPos*t Mk JrBhEd dso.

Options:



Both (A) and (R) are correct and (R) 1s the correct explanation to (A)
(A) 50803 (R)Bod #8858 SHvasn (A) 8 (R) 808 D566

Both (A) and (R) are correct but (R) is not the correct explanation to (A)
(A) H08asn (R)Bod #5850 500 (A) 8 (R) 308 D58 5765

L2

(A) 1s true but (R) 1s false
(A) 58856 570 (R) 8058 526

(A) 1s false but (R) 1s true
(A) 85858 5 578 (R) H058

Question Number : 51 Question Id : 1017175011 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The energy for beating of the cilia and flagellae comes from the hydrolysis of ATP by the
enzyme located in

FO8en, §Tere G050 5°50dS 4§ 20l S0 ohdod. & 20dFAE JoBSw
oG 2o

Options:
o-tubulin

a-r&mgmfg@.ﬁ

Nexin

S

Dyenein arms
BID 27T

p-tubulin

B-targengda

Question Number : 52 Question Id : 1017175012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Assertion (A):  Sporogony in Plasmodium is a type of multiple fission.

Reason (R):  Generally multiple fission occurs during favourable conditions.
AyBo (A): by iplalenslel ol V: D}S’ﬁ“ﬁj DIOVTITNES ) a8 585.
s*e0 (R) : OG0 22TDITIIHhE wdhEre 58 ::m‘&jﬂwj* 2008,

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation to (A)

(A)Bo8050 (R) Dok 58850 S08asn (A) 8 (R)SBS D560

Both (A) and (R) are correct but (R) 1s not the correct explanation to (A)
(A) 2085w (R)Bod 85880 500 (A) 8§ (R) 888 D588 5°¢

L2

(A)1s true but (R) 1s false
(A) 5858 5= (R) 9086 s=¢h

(A) 1s false but (R) 1s true

(A) 5088 5°65 570 (R) $0:38.
4

Question Number : 53 Question Id : 1017175013 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following statements with regard to microfilaria larva

(I) Life span of microfilaria larva in man is about 70 days

(I) Saurage-shaped larva becomes infective larva within 10-20 hours
(D) Infective microfilaria attains sexual maturity within 5 to 18 months

DE OO0 GogEdndE Honodod (§0d woToB wEIjoHdsn IaHod.
(D SrdHdes® EHB00Ir dogfEdn Bn), #dssteo ooy 70 Garen.
(ID) &0& &ogEo 10-20 Koboeres® FoEdos eroym SrtHd.
(ID) &roEns PEDDO0ST 5-18 Jwees® HBHE 58 B,

0
a_

Identify the correct statements of above
2 oo’ H08 a3 Mfodod.

Options:

L IT
LI

l

IL IIT

, LILII

Question Number : 54 Question Id : 1017175014 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Excessive dosage of cocaine causes hallucination.
Reason(R): It terferes with the transport of acetylcholine.

D so (A): §30 w@8 Irsrdhe”® groé SendEtnod

s=teao (R) : 20 ©OIS6 §8 Saregrey” #8550 D0Foenos.

Options:
Both (A) and (R) are correct and (R) is the correct explanation to (A)

(A) S08050 (R)Todh 588D Hdosw (A) 8 (R) 908 HS58=
L.



Both (A) and (R) are correct but (R) is not the correct explanation to (A)
(A) 8050 (R)Bodd 8050 570 (A) 8 (R) 805 D580 5265

N

(A) 1s true but (R) 1s false

(A) 5858 5°0 (R) Sp56 5760
3

(A) 1s false but (R) 1s true

(A) 5058 576 520 (R) 3058
4

Question Number : 55 Question Id : 1017175015 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following stages of life history of Plasmodium in mosquito and arrange them in
correct sequence

(A) Sporoblast (B) Oocyst
(C) Sporozoite (D) Ookinete

G0 abih Jrydobo B SBES™ Bod Gl wigohdo W B8 Edoe® b0k
(A) "8erdy (B) 00

(C) F6°°000¢5 (D) #:83¢5

The correct answer 1s
DH0GS ddrgprdd

Options:

B-D-A-C
C-B-D-A
D-B-A-C

) A-C-D-B

Question Number : 56 Question Id : 1017175016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following with reference to reproductive system of Periplaneta
(I) Testes are located in 2-6 abdominal segments.

(II) Secretion of utriculi breviores forms the inner layer of spermatophore.
(IIT) In total a pair of ovaries consists of eight ovarioles.

(IV) A pair of branched colleterial glands 1s present behind the ovaries.

DOFIEr |HBgAS fjgsiégém} H020804S §o& woTen wgohdo Book.
() Soarmpen 2-6 6486 podawes® €odron.

(II) BEHD OIG DEHEE 5°HO Jord) B CTow.

(I 2.8 e3¢5 @ S Fred dndgo G 30@rSen SodTon.

(IV) @g Defro IHE 8 e Feradndd é"@ﬁﬁoﬁarﬁ fochen €soiTmom.

Identify the incorrect statements:
2 ES” D00 570 woFren Hfodod.

Options:

1 IL IO, IV

LIOLIV

L-2

LILIV

[LIL IIT
4

Question Number : 57 Question Id : 1017175017 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In insects. the respiratory system 1s classified on the basis of
(A) Number of spiracles (B) Nature of spiracles
(C) Position of spiracles (D) Structure of spiracles

§éyseeres® ag:‘c;:ig;ﬁ{géj o0& mode wHooM é@é@owd}.

(A) FddoEe Homg (B) FeI6oITe Hgerrso
(C) #xddoe apdo (D) FLI60TD J0700
Options:

IA.C



_AB
. AD
4. B.D

Question Number : 58 Question Id : 1017175018 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Larva of Pinnotherus maculatus exhibits

DIPOB SrsBHd Boefso HAD HE OB,
Options:
Photokinesis

| 5708 wdhiiddo
Phototaxis

5706 eddedo

Photoperiodism

5T06 5eSG
Bioluminiscense

5 o -
BHS0LD
—iF

Question Number : 59 Question Id : 1017175019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Study the following and identify the correct combinations

SNo. List-1I List-1I

I Calotropis Cardiac glycosides

I Nicotine Chemical substance
m Gause Competitive exclusion
I\ Mac Arthur Co-existance

List - IIT
Highly poisonous

Defence against

grazers and browzers

Superior species will eventually
eliminate other inferior species

Same foraging pattern

808 T30 wgoRndo B Hdond BEloHeds HBotok.

D.50.  eie -1 b - 11

I ST e R 5*03r§ N8 D&

I AEES Saroid Hego

I o DESSg B0
\Y Sr8 es86 Do

The correct combinations are

DBGS Do¥DoHen

Options:

LOLIV

, LILTI
11, 1T

; I0.IO0. IV

o 28 078 erdd J0O% 08

28 DSTS es5tg EG Hegesoen

Question Number : 60 Question Id : 1017175020 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical



Suppose a population of butter flies is growing according to logistic growth. Nature's
carrying capacity of that population is 800. Intrinsic rate of natural increase value 1s
0.5 individuals per month. Calculate the maximum possible growth of the population
. ot .

in one year. [For logistic model &V = ?]

.8 oS0 DerE’s denfo asyr oradF 500 PHEHHNHE. @ sIHost v ader
G308), ard S:i548 800. &5 arer GI0g), Hras)a KoErd)s Bl Jend 0.5 £hen / Jo.
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wond 2,8 HodHF0 SodS & wTer EE), HOR DHDHG. (reh§ SSrae’ N:E}

Options:
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Question Number : 61 Question Id : 1017175021 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Read the following statements :

(I) Hions released from H,CO; combine with haemoglobin forming haemoglobin acid
(I) Rught side shift of oxygen-haemoglobin curve is due to high pH and low temperature
(II) More than 70% of CO; 1s transported as carbamino compounds

(IV) Inlungs, oxygen reaches the blood by active transport

Bob woFen wigohdo BoHoR.

() H,CO;5 08 ddBoond HY woirdHen orarfdds” sob rarfdd sdyo
QS04

(II) g%}&&ﬁ-i}ﬁjﬂ@fi}ﬁ SE0p Bofi3D B adiitrds se0mo wdE pH Sobain #5935 ﬁr@;@é.

D) ey 70% so7) 2893 CO, 5°G)S danFaream Garer ©HHodb.

(IV) #2885 06" u§ind d§05°8 HEWMS>r daver oo BEEH0b.

Among the above. the correct statements are
2) woFee® H6ond ol hiodok.
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Question Number : 62 Question Id : 1017175022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Adams apple 1s a prominent protrusion of

iy sHS LD Sok 6)E &@K doyo.
Iy o 2 —o L]
Options:

Cuneiform cartilage

Srgelardo ﬁjécﬁare_;ﬂ‘g
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Aretynoid cartilage
QBTG Dyoery

Thyroid cartilage
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Cricoid cartilage
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Question Number : 63 Question Id : 1017175023 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Formation of glucose from non carbohydrate sources 1s called

DORNT' TN 5V T ook ApSer DEVE HEoD

Options:
Glucogenesis

$r&REIDHD

Gluconeogenesis

Ar8ADBrBIDD

Glycogenesis
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o

Glycogenolysis
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Question Number : 64 Question Id : 1017175024 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) :  Elevated serum creatinine levels indicate kidney failure.

Reason (R) : Serum creatinine is eliminated in hemodialysis.
J3o (A): D80 BUSTEAS Fpon GG SrE@Hod (BoirHS)E SHergd) Hrddyod.

s60 (R) 1 S3rdcirdhasd® Hoos' Edridd Fofotndidod.



Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S)

(S). (R) & Bodk K858 5605 (S) & (R) 808 D566

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S)
(S) Sdasn (R)Bo $850 570 (S) 8 (R) 888 D560 57

L-2

(S) is correct but (R) 1s not correct

(S) 5058 520 (R) 5088 5°¢5

(S) 1s not correct but (R) 1s correct

(S) 85858 st 572 (R) $53:5&
4

Question Number : 65 Question Id : 1017175025 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct sequence with regard to the spread of electrical activity in heart

HoBeS® HdgS S5 argnod H0H IHEDIrA) Mhiodod.
Options:

SAnode — Wall of atria — AV node — Bundle of His — Ventricles — Purkinje
fibres

D0°E0s” Sed) —> E08o Fdden — E0s~80s Se0d) — wohS B O H>2E0E

fden — 90 08 dodHen.

SA node — Wall of atria — A V node — Bundle of His —Purkinje
fibres — Ventricles

DOEPS® S0 —> §08e Mden — 805~ nE0s° §m0) —> oGS 6D D —:)0) 08

godhen H>addsen.

SAnode — AVnode — Purkinje fibres — Atria — Bundle of His — Ventricle
DUTE0s” §203) — 05 2E0E §20) YY) 0B dodhJen — EhEen —» wosS

a5y rh — 2608en.



SAnode — Atria — Bundle of His— Purkinje fibres — A Vnode — Ventricle

w,

DUE0S” 20 — B0 > 2086 w6 R —» DY 07 dodhHwo — E0s° wdds

Scood) — 2808,
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Question Number : 66 Question Id : 1017175026 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Match the following sets.
(A) Myocardial mfarction
(B) Myocardial ischemia
(C) Hypertension

(D) ChestPain

808 Dhd edHdsod.
28 -1

(A) HAPsPoHS aSF6ES

(B) HrBrs=Qons xdydnoir

(C) «=&& sgren

(D) & Joy

The correct answer 1s
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Set-1I
() Reduced blood supply to cardiac tissue
(I) Insufficient pumping action of the heart
(IIT) Angina pectoris
(IV) Localised necrosis of cardiac tissue
(V) Stroke
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(D &y Seaererd§ SEH000 §eothi
(I) Ko F6o-ddoed HOHE 6520)
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Question Number : 67 Question Id : 1017175027 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose correct statements with respect to human joints
(A) Synowvial fluid contains hyaluronic acid

(B) Joint between carpel and metacarpel is pivot joint
(C) Gomphoses are amphiarphroses

(D) Daarthroses are freely movable joints

A8 Q%é} H0200800N BVS argwged Hiodokh.

(A) DIV0HS (D08 TroHenFIs ﬂ_—t-@m £0£008.
(B) Hoeloois y, S{elagsy Sagsg 008 Sen oM Sew
(C) Froar&Een @:ﬂﬁzﬁggﬁm

(D) BesGden _?‘JD‘S:IJ;}S'['.Sgéﬂ}ESJ S50 ééag,

The correct answer 1s
DOGS HIFP°HH0

Options:
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Question Number : 68 Question Id : 1017175028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following lists.

List-1 List-1I List-III
(A) Cerebellum Rhombencephalon Gyroscope of the body
(B) Limbic system Mesencephalon Emotional reactions
(C) Brainstem Prosencephalon Memory and communication
(D) Pons varolii Pneumotaxic centre Control of respiratory muscles

808 erdleroiy adghddod.

e | i I | el - 101
(A) =25d05,0 ;’}%m\fnﬁago B NEF9,D
(B) ®04§ 553‘3% ﬁj@igfi‘go E,T‘*ﬁﬁﬁcsﬁ S5
(C) e Hareo s)lolgisle a8 ds, ddrwrdo
(D) &3 560 Srgarir§)§ Soko T(OE0E0 §6O8 JoSHoes

Two correct combinations are

Doy H0S Fogdompen

Options:
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Question Number : 69 Question Id : 1017175029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Match the following lists

List-1 List-1I List-IIT
(A) Retina Ganglion cells Send action potential to brain
(B) Rods Idopsin Scotopic vision
(C) Cones Iodopsin Photopic vision
(D) Retina Blind spot Cones only

8§08 erdarod adiddoh.

erdle -1 erdia - 11 erd)a - 110
(A) IJgseo TGH0& Eooren Sscso Boirdsmen Sirdo Barow
(B) &oddEaren WOITE )W VFTEG Sy
(C) Fomofegeen VBT E)D 2f1E35ee Ayl
(D) 3gaeo W0 B8 Fopogegreny SrEa

The two correct combinations are
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Options:
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Question Number : 70 Question Id : 1017175030 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Over secretion of oxytocin in early stages of pregnancy leads to

ﬁdE:EE‘GE‘B @rdosf ($485° et whsorr Waodnks
Options:
Stimulates leucopoisis

orfaronnn wdfddhod
L
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Stimulation of erythropoiesis

wings eES (§oH (HOhHowe kb

Abortion

HHDng edhdol

Increased BMR
BMR xmmheoos

4.

Question Number : 71 Question Id : 1017175031 Display Question Number :

Orientation : Vertical

Match the following lists

List-1

(A) Zona glomerulosa

(B) Zona fasciculata

(C) Zona reticularis
(D) Adrenal medulla

§0& erdlerody adiddoh.

e -1
(A) & FhHs
(B) & hidir
(C) & B3HerdD
(D) @0&5)%),65g

The correct answer is

5BE0S BIFTH0

Options:
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(D)
V

@D
(ID
(II)
(IV)
(V)

(I
(1D

(Iv)
(V)

Yes Single Line Question Option : No Option

List-11
Glucocorticoides
Catecholamines
Thymosin
Mineralocorticoids
Androgens
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Question Number : 72 Question Id : 1017175032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Human Immumnodeficiency Virus attacks

£l
&

]

o

IrSD drgTBOINGY) 6D & Swron T8
Options:

T cells and Ny_cells

T 8eamen, Ny Seoren

Ty cells and Dendritic cells

Ty Searen, BoGEI§ Searen

T cells and Mast cells

T 8eoeen, 579

B cells and Dendritic cells

B Szoren, Bo@i3§ Searen
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Question Number : 73 Question Id : 1017175033 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A married woman menstruated on 10th March. In order to avoid conception. she should
abstain from coitus during

8 darardsy 30y 1035 268 Sdbrdo 20R08. e rﬁdezlmdaa AEFHoBoE & wHes®
poeyrioes® ﬁ‘a‘?_?:ﬁéf-‘c@cij_

Options:



10th March to 16tk March
S0y 10 Svod S0y 16 5580

20th March to 27th March
38y 20 ook S8y 27 S6&

27th March to 20d April
Srdy 27 S108 IS 2 65
4th April to 8th April

A0S 4 5008 DS 8 HoH
4

Question Number : 74 Question Id : 1017175034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the steps followed in the GIFT in the correct order
(A) Transfer of ovum to fallopian tube

(B) Cleavage of zygote

(C) Collection of donor's ovuum

(D) In-vivo fertilization

GIFT 5805:¢5° wde0doB §od Sfod BBGDS (50085° vl od.
(A) arefaodhe T°¢0 65°08 wodo ndd

(B) Hoosnglleo J8¢k0

(C) s Hroh wodo HECD

(D) @& wodsd Hobsd

The correct answer 1s

BBES HIATPGBBE0

Options:

1 C-A-D-B

, C-D-A-B
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Question Number : 75 Question Id : 1017175035 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct sequence of steps in DNA finger printing technique
(A) Separation of DNA fragments by gel electrophoresis

(B) Identification of DNA fragments by using probes

(C) Obtaining DNA

(D) Cutting of DNA with restriction endonuclease

(E) Splitting of double stranded DNA into single strands

(F) Southern blotting

DNA 5016 [20¢300 ro8&855) H005040S AT wog ol S8G0E [Eo0es® wdhdod.
(A) DNA S»ngod B 288000 HE8S* Palesialonelate

(B) @FdHeo $:50os” DNA Swg) ol hioddo

(C) DNA %> 28doisto

(D) E@QE ﬁoé‘éﬁggcﬂjﬁ@ Biasos DNA O mododdo

(E) DNAQ o8& DNAm Dérédo

(F) ®Hsox epélofi

The correct answer 1s

5O BITTHS

Options:

C-A-E-B-F-D
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C-D-A-F-B-E

C-D-F-A-E-B
3
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Question Number : 76 Question Id : 1017175036 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



A child has blood group O. If father has blood group A and mother has blood group B. what
would be the genotypes of father and mother?

2.8 399 6§ Sgo O. & 3D Sod ASTds, €& B S5ords Bobdtyonsd Sdkohe adog
grared fdodod.

Options:
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Question Number : 77 Question Id : 1017175037 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the condition that can maintain constant allelic frequencies in a population
(A) Migration (B) Small population
(C) Random mating (D) Absence of mutations

e.8 375" osfdseme FSiHTgen Srdson Yoo € 0BOHE &\ D03 HHHoD
8ol ¢35 Bodod.

(A) Heid (B) 2& aaer

(C) ‘inugag oS00 (D) &b3g5en asKsPFSto

The correct answer 1s

BN Bdorarddn

Options:
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A.C
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Question Number : 78 Question Id : 1017175038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following statements with reference to evidences of evolution and choose the
correct ones

(A) Sevmouria is the connecting link between fishes and amphibians

(B) Fromevolutionary stand point gastrula represents the cnidarian stage

(C) Wings of butter fly and bird indicate convergent evolution

(D) Auricular muscles of pinna are atavistic organs

n

£ HBegmedd ABSHTred) Howokot) 80k woTeidD wiigohido B atdess® K0S ¢l ook
(A) Ddroclr BH0E wfohSTosd gy Hogrd s

(B) #5308 o mper B0y ¥ Srdidyod

(C) Hers'sens, 9§ 08 0 wHFD H0erSrd) Hrdazon

(D) erdrgBd esbogerd Sodoren wirdRs esoha”

The correct answer is
DOGHH HdrErhdn

Options:
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Question Number : 79 Question Id : 1017175039 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : The e and f chains of insulin are connected by a non-functional protein
sequence called C-peptide in proinsulin.
Reason (R):  C-peptide controls blood glucose levels.

O30 (A): & 9O a. freniven C- Pl dnad |§irdird 48 Teootd
Eodad dodon.
s 50 (R) : C-2 G@ S80e5” fijDEﬁaj @"ﬂomﬂj& JodoEdaok.

Options:



Both (A) and (R) are true. (R) 1s the correct explanation to (A)
(A). (R) e Bodr #5850, (A) 8 (R) 588 JSde

Both (A) and (R) are true. but (R) is not the correct explanation to (A)
(A). (R) ex Bodr #3882, (A) § (R) 8588 D38es st

L2

(A) 1s true. but (R) 1s false
(A) 3886, s (R) #3856 =6

(A) 1s false. but (R) 1s true
(A) 5886 57k, s (R) 8086
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Question Number : 80 Question Id : 1017175040 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following lists

List-1 List-1I
(A) MRI (I) Antigen-antibody reaction
(B) ELISA () Brain electrical activity
(C) ECG (IIT) Non invasive radiology technique
(D) EEG (IV) Heart electrical activity

(V) Angiography

808 rdered adgihddob.

i -1 erd)e - 11
(A) MRI D ©8 258-padsr $g
(B) ELISA (ID) SBocscky Debogely (Bosrae
(C) ECG D) 50, Tk Peraer B 0ocSred HE8
(D) EEG AV) Smysaso dcogsy Bosriod
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The correct answer 1s
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Question Number : 81 Question Id : 1017175041 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In an experiment. four quantities a. b, ¢ and d are measured with percentage error 1%. 2%.
| 31,2

a

3% and 4% respectively. A quantity ‘P’ 1s calculated as P = . Then the percentage

ed
error in ‘P’ 1s

2.8 HARrNH0sS” a, b, ¢ Hbcdn d oched® &l srddwe SHIm 1%, 2%. 3% Hddswn

s
a’b?

cd
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Options:

1 14%

10%
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Question Number : 82 Question Id : 1017175042 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The variation of velocity (v) of a particle with time (t) is shown in the figure. The average
velocity of the particle during 1its motion 1s

$00T o8 Smwo BwE), s (V), seo (1) & Sr8E) oS Srdndld. & Jodos®
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Question Number : 83 Question Id : 1017175043 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The resultant of P andfg is R . The magnitude of R will be doubled either by doubling the

magnitude of Q or by reversing direction of Q . ThenP:Q:R=

P 50050 Q © $080 R. Q 505redn 380 o B0 Q & 33808 bFS*
S0OT R B, HOHTHL Do) whds. wond P: Q:R=

Options:

V232
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Question Number : 84 Question Id : 1017175044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A boy is riding a bicycle with a speed of 10 ms—! towards North direction on a rainy day and
rain appears to be falling vertically downwards. If he increases his speed to 15 ms—1. rain
meets him at 45° to the vertical. The real speed of the rain 1s

2§ ek 580 HSE) s 10 msl 588 PESH Gddo IYH SHYd TN,
500050 S0 A VYT §odE HBBHDLY EIDOVIB. wrendd &5 565 15 ms1H

2008 $60 §82 wordd 45° F0od 98N orddol & o GoE). Ja 5&

Options:

1 Sms!
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5405 1115:_1

3
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Question Number : 85 Question Id : 1017175045 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



In the arrangement shown in the figure. masses of blocks A and B are ‘m’ and “2m’

respectively. The string 1s massless and inextensible. Pully is frictionless. The coefficients
2

of static friction between A and the wedge surface is — . between B and the wedge surface

D

1
15 E . If the blocks A and B are released from rest, acceleration of block A 1s

DS Irhd @0ES” A baln B 830 @Sgorden SOOI ‘M Hdcdn 2m’
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Options:
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Question Number : 86 Question Id : 1017175046 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 10 kg 1s being acted up on by a force of 3t2 N and an opposing constant
force of 30 N. The initial speed is 10 ms—1. The velocity of the body after 5 seconds 1s

10 ms—! &0 IK508" Ks0s’ Ko 10 kg $550°8 fo 5509 D 32 N podn 8050

Options:
i 125 ms



Question Number : 87 Question Id : 1017175047 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The displacement of a body of mass 4 kg varies with time as S = (12 +2t) m. Now the
workdone by all the forces acting on the body during the time intervalt=3 sand t=5 s 1s

4 kg 35078 flo o8 S0P Fdoddn S = (12 +21) M 50od I, Fo I558

t=35 50080 =35 & S0P D I T o) wore dod 2085 DY
Options:
, 801
5 320 F
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Question Number : 88 Question Id : 1017175048 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An automobile of mass 500 kg accelerates. starting from rest when its engine supplies a
constant power of 1000 W. Its position with respect to time () 1s

1000 W 2& ﬁ*fwg’géﬁw‘ﬁa SEHTr TS odoogo Ko 500 kg $550°3 o o8 el"InaS
0 Bob3, oo (1) &yrg o ado




Question Number : 89 Question Id : 1017175049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Seven thin uniform circular discs of different masses and each of diameter 4 cm are arranged

in a planar hexagonal pattern as shown in the figure. The moment of inertia of the system

about an axis passing through the centre of the central disc and perpendicular to the plane is
kg m2.

DY) (BIgT e o o5 8 8 4cm argdo Ho oIe8) DHE Q&6 5&@3515 DHew Heroes”

Hrod Ao Sdhde LdnE Sdrard’ oddRaddd. Py D) Sodo ToT FEr
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Options:
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Question Number : 90 Question Id : 1017175050 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angular acceleration of a wheel 1s (12 —t) rad s—2. If the angular velocity of the wheel
1s 60 rad s~! at the end of 4 seconds. then the angular velocity and number of revolutions
made at the end of 6 seconds are respectively

28 Uo Bws), Fdodh Sodmo (12 —t)rad s2 4 DESoen Frgddoghos HEo ol 3o
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Question Number : 91 Question Id : 1017175051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A particle executes SHM along a straight line. At two positions. its velocities are ‘u’ and “v’
while accelerations are o and P respectively. (B = o > 0). Distance between the two
positions 1S

2.8 Eeadn DIy Joaxd 3.57.8. S e, Bodkd T3S0 HG SLBT B0 Smrey ‘u’

80w VY, dcderren o 0800 B (B> o >0). & 3ok Fddne Dody drddwn

Options:
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Question Number : 92 Question Id : 1017175052 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



-

5

A body 1s thrown up from the surface of the earth with a velocity equal to 1

th of the escape

velocity from the surface of the earth. The height attained by the body 15

o8 SHD ¢ SB0swo Dok Py BwE) DorodTKods

IDBSEHE 06 T
Options:
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. 20

Question Number : 93 Question Id : 1017175053 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum length of a copper wire which has density 8.94 g cmi™ and breaking stress
3 » 108 N mr2 so that it does not break when 1t is vertically suspended is

o 8.94 gom Hodoio IFES ©Béwwo 3 x 108 Nnr? §8698) oh &4 deodrmr
BerdbosHd, vb BAFHer wombt © &5 Koy FEH

Options:
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Question Number : 94 Question Id : 1017175054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



A uniform cube of mass 6 g is floating on the surface of a water with ( %) th of its volume

immersed in water. The length of the side of the cube is

LY

6 g (855073 o 868 Hodo, 85 HodHdEr o’ (34) 3 Sod JBS® S0IASLR, V8D
BouthdB. odo DB hao FED

Options:

| I cm

o 05cm

4 cm

bk

-
4 < Cm

Question Number : 95 Question Id : 1017175055 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A tap supplies water at 10 °C and another tap supplies hot water at 100 °C. How much hot
water must be taken so that we get 20 kg of water at 35 °C.

F&) QB HoBdiw Ho&E Feran 100 °C S ey 38 B H8Hor
D) 20 kg A FoLrd sHedS 38 A8 |$SgoR

Question Number : 96 Question Id : 1017175056 Display Question Number : Yes Single Line Question Option : No Option
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A solid floats in a liquid at 20 °C with 75% of 1ts volume immersed in the liquid. When
the liquid 1s heated to t °C., 80% of volume of the solid 1s immersed i the liqumd. If the
absolute expansion of the liquidis 8.33 » 10~ °C™" then the temperature ‘t’ is approximately
(Expansion of solid is negligible)
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A sample of an ideal gas (y=1.4) is heated at constant pressure. If 80 J of heat 1s supplied
to the gas. the workdone by the gas is
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Two carnot’s engines “A’ and ‘B’ are operated in succession. The first engine *A’ receives
heat at T; =800 K and rejects heat at T, K. The second engine receives heat at T, K and
rejects heat at T; =300 K. If the work outputs of the engines are equal. the value of T, 1s
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n molecules (n < 100) of a gas have speeds 1, 2. 3. 4. 5. ... n kms™ respectively. The rms
speed and average speed are in the ratio K : 1. Then K 1s equal to
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: _ : T
Two waves represented by x; =2 sin(20xt) m and X, =2 Sﬂl( EUH’HEJ m are

superimposed. then the amplitude of the resultant wave
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The equation of a harmonic progressive wave propagating in a medium is given by
x =2s5m2x(0.05y —3t) cm and ‘" is in seconds. The phase difference between two
particles of the medium having path difference 2 cm in the X - direction 1s
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A light wave of frequency 75000 = 101° Hz in vacuum travels through two transparent slabs

of same thickness but made of different materials separately. The difference in the number
5 4
of waves in them is 400. If the refractive indices of the slabs are given by 3 and 3

respectively. then the thickness of the slabs 1s
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In Young’s double slit experiment. when the distance between the slits is 1mm . the fringe
width 1s 0.6 mm. When the screen 1s moved through a distance of 25 cm. the fringe width
increases by 0.15 mm. The wavelength of the light illuminating the slits in nm is
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A particle carrying a charge of 0.01 C in contact with a vertical wall 1s able to remain in
equilibrium when an electric field of 100 Vin! is applied normal to the wall. If the coefficient
of friction is 0.2 then the weight of the particle in newton is
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A sphere of radius 0.5 m is at a potential of 300 V. The electric field on its surface 1s
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Two capacitors of equal capacity are initially uncharged. If one of the capacitors is connected
across a battery of 10 V. the energy stored in it 1s E. If the two capacitors are connected in
series across the battery. the total energy stored is
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An mfinite number of capacitors each of capacity 2UF are connected as shown in the figure.
The resultant capacity between A and B is
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In the network shown in the figure, points A. B and C are at potentials of 70V, 0 Vand 10V
respectively. Then the currents in the sections AD. DB, DC are in the ratio
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/
The length of a potentiometer wire 1s *I°. A cell of emf'E is balanced at a length 3 from the

positive end of the wire. If the length of the wire increases by 5 then the new balancing

point 1s
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Awire of length 30 cm carrying a current of 5 A 1s bent i the form of an equilateral triangle
which lies in the Z= 0 plane. The magnitude of the torque on the bent wire if it 1s in a region

of uniform magnetic field of .4(}{ T 1s Nin.
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Electron beam of kinetic energy 182 eV moving along +X direction is subjected to a uniform
magnetic field at a pomnt A as shown m the figure. The magnetic field acts along the line AB
and makes an angle of 60° with the X-axis. The minimum value of the magnetic field required
so that the electrons hit the point B at a distance of 22 ¢cm from A 1s % JOAAT.

(Mass of the electron = 9.1%1073! kg and charge of the electron = 1.6x1071° C)
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The magnetic field at a point P shown in the figure due to a straight wire of finite length
carrying a current of 5 A at a perpendicular distance of 1.5 m1s
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A thin conducting rod MN moves with a velocity “v’ which is parallel to a long straight wire
carrving a current ‘i’ as shown in the figure. The length of the rod 1s normal to the length of
the wire. The nearer end of the rod 1s at a distance ‘a’ from the wire. Induced emf in the total
length of the rod is (length of the rod =b)
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Assertion (A) : Choke coil 1s preferred to a resistor to adjust current in an ac circuit.

Reason (R) : Power Factor of an inductance is zero.
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Options:
(A) and (R) are true. (R) is the correct explanation of (A).
Q). (R) @ 18550, (R), (A) & 535 256w
(A) and (R) are true. (R) is not the correct explanation of (A).
(A). (R) e S50, (R). (A) & S8 D80 5080
(A) 1s true. (R) 1s false
| () veggin, (R) obsgin
(A) 1s false. (R) 1s true
i (A) 8550, (R) S50
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The intensity of direct sunlight before it enters the earth’s atmosphere is 1.4 kW m—2, If it

1s completely absorbed. and completely reflected the corresponding radiation pressures
are respectively
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A proton. deuteron and an o-particle are accelerated through potential differences of
V. 3V and 9V respectively. Then their velocities are in the ratio
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Match the properties of an electron of charge ‘e’ moving in the n orbit given in column A
with their dependency given in column B (according to Bohr’s atomic model)

Column A Column B
a)  Speed of the electron i) =
b) Radius of the orbit of the electron 1) n?
c) Kinetic energy of the electron 1) e2

d)  Angular momentum of the electron  1v) et
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A radioactive sample contains two types of radioactive nuclei A and B. Initially the number
of nuclei of A is twice that of B. Two hours later the number of nuclei of A 1s equal to the
number of nuclei of B. If the half-life of B is 40 minutes. then the half-life of A 1s
minutes.
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If the diodes are ideal. potential drop across the 10 € resistor in the circuit shown 1s
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A TV transmission antenna and a receiving antenna are maintained at the same height to
cover entire region having population 3.14 million with an average population density
500 per sq.km. Then the height of each antenna 1s

(Radius of the earth =6 = 103 ki)
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: ; L,
The least possible angular momentum of an electron with/=3. m=0and s =+ is
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The frequency (in Hz) of the lowest energy line of Balmer series of hydrogen atom 1s:
(R = 10967 7cnr)
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In second period of the modem periodic table, the elements which have lower first 1onisation
enthalpies than expected are
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In which of the following pairs. hybridisation of the central atom is same but shapes are
different.
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The correct statement in the following is:

Bod e® B0 mond dDdee:
Options:
SnCl, 1s more covalent in nature than SnCl,
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CuCl1s more covalent in nature than NaCl
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KF is more covalent in nature than LiF

LiF g0% KF & NEVI DB drezd) o3 Do &0tnod

KF 1s more covalent in nature than KI
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The Kinetic energy (in J) of 22g of CO, at—73°C is (R=8.314J K™ mol™")

~73°C 5¢ 22g CO, 308, 85§ (J o) (R=8.314 JK! mol?)
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Which one of the following is not a disproportionation reaction?

B0 TE3e5° DB wHH>S SEg 57
Options:

 2H,0,——2H,0+0,

Cl, +2KBr——2KC/ +Br,

L2

3CI, + 6NaOH — 5NaC/ + NaClO; + 3H,0

Sg +12NaOH——4Na,S + 2Na,5,05; + 6H,0
4,
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One litre of an 1deal gas at a pressure of 10 atm expands isothermally and reversibly until
1ts total volume is 10 L. The work done in L-atm in this expansion is:
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At 440°C for the reaction

Hy(g) t1o(g) = 2HL ) . the equilibrium constant. K is 49.0. If 0.3 mol each of H and I,
are allowed to react m a 10L vessel. at this temperature the concentrations of H,. I, and HI

in mol L respectively are
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How many moles of StF, will dissolve in 1 L of water. if K¢, of StF, is 3.2 > 107'1?
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When zeolite. which is hydrated sodium aluminium silicate. 1s treated with hard water the
sodium ions are exchanged with
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Magnesium 1s an important component of which biomolecule occuring extensively i iving
world?
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Options:
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The metal with very low melting point (303 K) and high boiling point (2676 K) and 1s used
in high temperature thermometers is
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Identify the correct statements from the following:

a) CO,isused as fire extinguisher

b)  S10; is commonly known as silica

¢) InCggthere are 20 five membered carbon rings and 12 six-membered carbon rings
d)  The distance between two layers of graphite is 340 pm
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The correct order of maximum permissible levels of concentrations of sulphate (in ppm).
lead (in ppb) and nitrate (in ppm) respectively in drinking water is:

(EhEe” STy (ppm ©&°), B& (ppb o), @S (ppm 05%)o wHHSoTEAS MESe
0 Jroxw (B0 HEHM

Options:

1500, 50, 50
600, 60. 60
£ 600. 75. 60

1

L2

Ll

, 800. 100. 70

Question Number : 136 Question Id : 1017175096 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Which extra element is not detected by Lassaigne’s test?
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In ozonolysis of which of the following compounds. the products are formaldehyde,
acetaldehyde and glvoxal?
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Identify the ring deactivating groups from the following
Bob 7eded® Sechaddas ddrFiod MHdodhin.,
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-NO —NH, —NH—=C—=CH, —OCH, —COOH
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g A

e

4

Question Number : 139 Question Id : 1017175099 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An element crystallizes i bec lattice with cell edge of 200 pm. The density of element 1s
5.2g cm. What is the number of atoms present in 208g of this element?

2.8 Soressn bee rogoss® 988600 Dod 200 pm © woHPEHK §OH 50t00h. &
Soresd Fos 5.2g cm. 208z © & Sorosos”® &) HOSrEYe Hopy os?
Options:

| 2 % 10%

1x10%
5 5% 10%

., 1x10%

L-2



Question Number : 140 Question Id : 1017175100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The observed depression in freezing pomt of solution when 9.75g of CH,FCOOH s dissolved
in 250 g of water is 1.0°C. The molal depression constant of water is 1.84 K kg mol.
What is the Van't Hoff factor?

9.75¢ CH,FCOOH % 250 g 58" $0n0Sm D6)as @Saras 5030008 S0dess:s
D5 1.0°C. 38 Irerd 3598 JorosSo 1.84 K kg mol™. aroérd Heagsn Jog?

Options:

| 1.087
10.920
, 0.544
, 1.856

L2

Question Number : 141 Question Id : 1017175101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solution contains 25% (w/w) of benzene in CCl,. The mole fractions of benzene and
CCl, in this solution respectively are:

(mol.wt of benzene = 78: mol. wt of CC1 , = 154)

25% (W/w) Bo#s e CCl, |3rSwoes® Bo#s Sodasw CCL o 3ré grmen SGHSM :

(Bo#a weaerdo =78, CC14'=£E&}E¢,T*60 =1 54)

Options:

- 0.384. 0.616
0.397. 0.603

- 0.458, 0.542
0.306. 0.694

—_

[ ]

Ll

4

Question Number : 142 Question Id : 1017175102 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The emf of the cell is Cu/Cu”" (0.1 M) //Ag" (0.1 M)/ Agis :

E° of Cu®" / Cu=+0.33V:E® of Ag” /Ag = +0.80V)

Cu/Cu " (0.1M) //Ag™ (0.1 M) / AgHotro c308), emf Denss :

S A - - T T, L 2
[ Cu®" / CuE® Deo$=+0.33V:Ag” / AgE® dens =+0.80V )

Options:

| 040V
, 0.44V
5 047V
4 046V

Question Number : 143 Question Id : 1017175103 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the given reaction
A +B — products. the following data is obtained.

A+ B — Sdiraagen, 6 S658 §od deogen 5¢masd

Initial concentration Initial rate
CRefelars Wanect:] (@Joess B
Mol L1 Mol L1 st
A, [B], _
0.1 0.1 0.05
0.2 0.1 0.1
0.1 0.2 0.05

The rate constant of the reaction is
& U0y B Vén YUroEHI

Options:

, 1.0 g1
o 05571

5 10§



g
5 58

Question Number : 144 Question Id : 1017175104 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following graph was obtained for adsorption of a gas on solid surface. The correct
X
order of temperature (T) 1s: (E = quantity of gas adsorbed per unit mass of solid adsorbent:

p = pressure of gas)

08 P08 &30Swon wHTAWo TodD IotnHE fod (T oHhodod. S80S

X
egid (T) |FSosn: (E = 25708 |B3J§0°8 Mo Hod IS0 WHIHNWo TohHY

J°050 HBSre20, P = T HES0)

Options:

I,>1;>1,
Rl et
R T
). Ta7 Tt ly

Question Number : 145 Question Id : 1017175105 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The composition of the ore malachite 1s:

In&pdzo Sresdy Hodado:

Options:

y B uCOE



. C11C03 . C‘u(OH)2
4 CuF E‘SE

FeCO,
4

Question Number : 146 Question Id : 1017175106 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A):  Hypophosphorous acid reacts with aqueous silver nitrate to form H,PO,.
HNO, andAg

Reason (R):  Hypophosphorous acid is a monobasic acid

Ago (A): TR0 w00 *&55 ?@é? po@Ean0d” IdgFos H,PO,. HNO,

s*deao (R): OO0 0 w8 QEFC 25350350

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 538050 (R) &0 Bod> $0852 S08a50 (A) & (R) 388 D558

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
_ (A) 08030 (R) 20 Bodkr $385D S0005» (A) & (R) 98 25620 5°¢h

(A) 1s correct but (R) 1s not correct
, (A) 3886 (R) 5086 57t

(A) 15 not correct but (R) 1s correct
. (A) 5858 5760 520 (R) 5058

Question Number : 147 Question Id : 1017175107 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sodium hydroxide on reaction with anhydride (X) of sulphurous acid forms a sulphur
compound Y. Y on reaction with excess of SO, forms a compound Z. X.Y and Z are
respectively

EG O30 GFL(:E‘*S@ DeogsD w50 B0, RIS E:g& (X) & S65308, DG HaneHo Y
30y, Y?f:@é SO, & S6gTod Z wid caﬁuﬁmom adnd. X, Y. Z e 36354

Options:



 S0,.Na,SO,. NaHSO0,
SO,.NaHSO,. Na,SO,
SO,. NaHSO,. Na,S0,
3 - =

, 80,.Na,S0,. NaHSO0,

Question Number : 148 Question Id : 1017175108 Display Question Number : Yes SingleLine Question Option : No Option

Orientation : Vertical
The noble gas compounds produced in the following reactions are respectively

§oB SOgeS INAES Gy FosoJe dyFTren SeH

B) XeF+3H,0——

Options:

| Xekg. XeO,
XeF . XeOF,

N XeO,F,. XeOF,

. Xe0,. XeO,F,

Question Number : 149 Question Id : 1017175109 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the linkage 1somers from the following:

808 83e5° w0 (Ho8e) FE)Fgsody HowSw.

Options:

 [Co(NH,), SO, ]Br & [Co(NH,), Bi]SO,

_ [Co(NH,), NO,]CL, & [Co(NH,), ONOICL

 [Co(NH,) ] [CH(CN),] & [CHNH, )] [Co(CN),]
, [Ci(H,0)] CL, & [Cx(H,0), CIICLH,0

(R ]



Question Number : 150 Question Id : 1017175110 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=2 . :
The spin only magnetic moment of [MnB1, | ™ is 5.9 BM. Predict the geometry of the
complex ion

[I'|.fIJ]LB]‘4]_3 D)0 wprdd wohHhayod grdso dend 5.9 BM & Ho33) wolrs @),

Options:
Square planar

Hvde SHOHo
Octahedral

g (ES

Planar triangular
Hdde |BEBHoho
Tetrahedral

BT rS

Question Number : 151 Question Id : 1017175111 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Match the following

1Bo& T80 adHdhan

List-1
ergie - |
A)  Glyptal )
AyS
B) Bakelite )
B8TeS
C) Bua-S 1)
an;jcfa-S
D) Dacron V)
GIE"
V)
The correct answer 1s
HOGHH HAPETHIN
Options:
A B C D
! Vv I I
A B C D
o 1 I I A%
A B C D
I I Vv A%

(&5

List-1I
pregya - 11

H,C=CH-CH=CH,. C,H.—~CH=CH,

HOOH .~ _~_ NH,
COOH, H,N



D
I

=
= |

Question Number : 152 Question Id : 1017175112 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement from the following.

Bod a¢3e5® DB DDGed MHBowhan
Options:

D-glucose gives Schiff’s test

D-6r8%, oy o) H085H x2d308

Fructose is a non-reducing sugar
@88, §0la8de <8 0 57

-2

Maltose is a disaccharide of D-glucose and D-galactose
Sref’E @dh D-irs*E, D-rofifo 37506

D-glucose and L-glucose are enantiomers

D—ﬁgﬂjéﬂﬁ, L—!‘qﬁjéﬁﬁm am@l@wm@

Question Number : 153 Question 1d : 1017175113 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Nardil (X) and histamine (Y) among the following are:

80O 835 6aS (X) 00050 P (Y) en
Options:

X

X




X Y

S . o

X Y
O NHNHCH(CH,), -
\
~ 4:} NCH,
= H
3
X Y
SO,NH,
\
& NHNH,
NH'r
4, ¥

Question Number : 154 Question Id : 1017175114 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The drug that inhibits the synthesis of prostaglandins 1s

FFFmodde HoFNid $hod S0

Options:
Valmm

I lIlenhIaN

Aspirin

Codeine

£35



Cimetidine
5308545

Question Number : 155 Question Id : 1017175115 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The order of dipole moment of methyl halides is:

FE FDae OgEhd Erds Edoo:

Options:

- CH;I> CH;Br > CH;Cl > CH;F

CH_;I = CH-_;B].‘ - {:H;:F = CH}CJ’T

L2

CH:;C“? = CH;,F = CHE.B]' = (:H}[

Question Number : 156 Question Id : 1017175116 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Swarts reaction among the following 1s

L_gl:){,_. Gl ‘E'_,-ﬁ -:'ES' B ‘-‘.5(55

Options:

)::::
R — c1+NaIL}R I+ NaCl

[&rdd

&

R —CN +SnCl, + HCl—R —CH = NOH——=2 ,R — CHO

L2

2, Fars)
R-X+R'-ONa— 3R -0O—-R'+NaX

R—Cl+ AgF—2 3R —F+ AgCl

Question Number : 157 Question 1d : 1017175117 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



i) 0,
i) H™ /H,0

> X+ Y

Isopropyl benzene

i) CHC/; / ag. NaOH
H)H™

X

>Z (Major product)

*Z’ 1n the above sequence of reactions 1s

i (:]'!l r
) — {f > X+ Y
i)H" /H,O

M

?

DRFEF 0O Bod

1)CHCl; /=2 NaOH
w)H

X

>»Z (DTS edHo)

2 SorgEsnodt 27 wdod

Options:
CH
i - COOH
1
CH
CHO
Ci
©/
3.
OH
OH
4

Question Number : 158 Question Id : 1017175118 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



An organic compound ‘X 1s oxidised by chromic anhydride to form “Y". Y reacts with

phenyl hydrazine but not with Tollens reagent. X 1s

X o3 Dogoh $FEso FNE Nr@EeS 5818600 Tod Y’ S adnd. Y HI3SE
TrIERIS 05 Johd 57 LBy 570808 STgT o, X wdod

Options:

 (CH,),CO
(CH,),CHOH
_ CH,COOH

, CH,CH,OH

Question Number : 159 Question Id : 1017175119 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The order of acidity of the following compounds is

Bod dFore ey Hgard |Edo

COOH CH,COOH
i i i ~» NO, i
(a) (b) (c) (d)
Options:
c>d=a>=b
. € >bh>a>d
, d>c>a>b

b>c>d>a
4.

Question Number : 160 Question Id : 1017175120 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



In the presence of alcoholic KOH. a primary amine reacts with chloroform and gives
compound “A’. which also forms as major product by the reaction of X with alkylhalide.
A and X are respectively.

ey 530§ KOH dd0goes, o8 Cﬂéﬁ}ﬁ DD g5 rod® S0gTos ‘A’ el SRyFod)
oNINH. ©F S FHES X I6geodIP A P edHomr SrE 26)ES08.
A So8osn X ew 366

Options:

~ RNC.KCN
RCN. AgCN
RNC.AgCN

RCN.KCN



APEAMCET-2017

Agriculture & Medical Stream Preliminary Key
Date: 28-04-17 AN (Shift 2)

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 1 41 2 81 1 121 4
2 3 42 1 82 2 122 1
3 3 43 1 83 1 123 2
4 3 44 1 84 3 124 2
S 1 45 2 85 2 125 2
9 1 46 1 86 2 126 2
7 3 47 4 87 4 127 2
8 4 48 2 88 1 128 3
9 3 49 1 89 2 129 1
10 4 50 1 90 2 130 4
11 1 S1 3 91 2 131 2
12 1 352 3 92 4 132 2
13 1 53 1 93 2 133 2
14 3 o4 3 94 4 134 4
15 2 55 3 95 2 135 1
16 3 56 4 96 2 136 4
17 2 S7 2 97 4 137 4
18 1 58 1 98 3 138 3
19 4 59 2 99 4 139 2

20 1 60 4 100 1 140 1
21 1 61 1 101 1 141 2
22 3 62 3 102 2 142 2
23 4 63 2 103 3 143 2
24 4 64 2 104 4 144 2
25 4 65 2 105 1 145 2
26 2 66 2 106 4 146 2
27 1 67 2 107 4 147 4
28 3 68 1 108 2 148 1
29 3 69 2 109 2 149 2
30 1 70 3 110 2 150 4
31 4 71 3 111 3 151 4
32 3 72 2 112 2 152 4
33 2 73 2 113 1 153 1
34 4 74 1 114 1 154 2
35 1 75 4 115 4 155 4
36 1 76 1 116 3 156 4
37 2 77 1 117 4 157 2
38 2 78 2 118 1 158 2
39 3 79 3 119 1 159 2
40 1 80 4 120 1 160 3




